Lesson - Political Economies

Multiple Choice Questions (MCQs)

1. In a fascist government, who has the most control?
a) Citizens
b) One strong leader
c¢) Private businesses
d) The military

2. Which type of government believes in free markets with little government control?
a) Socialist
b) Communist
c) Neoliberal
d) Fascist

3. In a socialist economy, resources are mainly used to provide:
a) Luxury goods
b) Healthcare, education, and welfare
c¢) Military strength
d) Global trade

4. Which government system has no private ownership at all?
a) Neoliberal
b) Communist
¢) Socialist
d) Fascist

5. What is the main goal of a communist government?
a) Competition between businesses
b) Total equality for all people
c¢) Strong military and order
d) Reducing taxes




Matching Definitions

Match the government type with the correct definition/feature:

A) Fascist

B) Neoliberal

C) Socialist

D) Communist
1. Government fully controls production and distribution.
2. ___ Private businesses exist, but only if they support the state.
3. ___ Markets and businesses decide how resources are used.
4. __ Focus on fairness and equality through shared resources.
5. No private ownership; all property belongs to everyone.

Application Question (Short Answer)

Question:

A country is deciding how to rebuild its economy after a major crisis. Some leaders argue that
the government should take full control and make all economic decisions to ensure equality.
Others argue that the market should be free with fewer government rules to encourage growth
and competition.

Which two types of governments from the notes do these leaders represent? Explain
your answer.
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